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1. Digital no system has base and radix of *

2. (16)8 in hexadecimal number system is equal to *

3. Product of 1011 and 101 *

https://www.google.com/url?q=https://youtu.be/sDDcVHNNUIo&sa=D&ust=1581613038710000&usg=AFQjCNF9tN_olKwrwLqDhRRyxA8xDZPeGw
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1 point

(46787)⊂10

(54671)⊂10

(46687)⊂10

(54572)⊂10

1 point

2

b) 8

c) 10

d) 1

1 point

a) 0010

b) 10

c) 1010

d) 010

4. (B65F)⊂16 in decimal number system *

5. The value of radix in binary number system is _____________ *

6. The binary equivalent of the decimal number 10 is __________ *
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1 point

a) machine language

b) C

c) C#

d) pascal

1 point

a) 624.12

b) 145.12

c) 154.12

d) 145.21

1 point

a) 0111

b) E

c) 15

d) 14

7. A computer language that is written in binary codes only is _____ *

8. The octal equivalent of 1100101.001010 is ______ *

9. The input hexadecimal representation of 1110 is _______________ *
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1 point

a) 21

b) 12

c) 22

d) 31

1 point

a) 1111

b) 101

c) 11E

d) 000

1 point

(a) 2

(b) 8

(c) 10

(d) 16.

10. Convert the binary equivalent 10101 to its decimal equivalent *

11. Which of the following is not a binary number? *

12. To convert a whole decimal number into a hexadecimal equivalent, one should
divide thedecimal value by....... *
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1 point

(a) decimal

(b) binary

(c) octal

(d) hexadecimal

1 point

(a) four larger

(b) three smaller

(c) three larger

(d) much larger.

1 point

(a) 5's

(b) 7's

(c) 4's

(d) 3's.

13. Which numbering system uses numbers andletters as symbols ? *

14. In Excess-3 code each coded number is .......than in BCD code. *

15. Octal coding involves grouping the bits in *
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1 point

(a) 1010

(b) 0010

(c) 0101

(d) 1000.

1 point

(a) non-weighted

(b) the same thing as binary numbers

(c) a binary code

(d) an alphanumeric code.

1 point

(a) 1010

(b) 1011

(c) 1000

(d) 1110.

16. Which of the following 4-bit combinations is/are invalid in the BCD code ? *

17. BCD code is *

18. The binary equivalent of A16 is *
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1 point

(a) decimal

(b) binary

(c) octal

(d) large

1 point

(a) 54

(b) 45

(c) 37

(d) 25.

1 point

(a) 0111

(b) 0101

(c) 1000

(d) 0001

19. Hexadecimal number system is used as a shorthand language for representing
.......numbers. *

20. The number (100101)2 is equivalent to octal *

21. The 2's complement of (1000)2 is *
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1 point

(a) −111

(b) 111

(c) 011

(d) 001.

1 point

(a) 1111

(b) 111

(c) 100

(d) 1001

1 point

(a) 12

(b) 100

(c) 101

(d) 110.

22. The result of binary subtraction (100 − 011) is *

23. The cumulative addition of the four binary bits ( 1 + 1 + 1 + 1) gives *

24. After counting 0, 1, 10, 11, the next binary number is *
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1 point

(a) binary

(b) decimal

(c) octal

(d) hexadecimal.

Thankyou!!!

This content is neither created nor endorsed by Google.

25. The digital systems usually operate on ........system. *
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